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QUESTION 1

An administrator needs to unmount a datastore that is also used for HA storage heartbeats.

What is the least disruptive method for an administrator to perform this activity on a slave HA host?

A. On the Datastore Heartbeating tab, unmount the datastore normally and confirm a new datastore has been selected.
B. On the Datastore Heartbeating tab, specify an alternate datastore, then unmount the datastore normally.

C. Disable HA datastore heartbeats, then unmount the datastore.

D. Reduce the number of heartbeat datastores, then remove the datastore from the heartbeat list.

Correct Answer: B

QUESTION 2

A VMware administrator determines that a low priority virtual machine is negatively affecting the disk 1/0 performance of
a higher priority virtual machine. The virtual machines are hosted on the same datastore presented to the same ESXi
host.

Which configuration option should the VMware administrator use to resolve this issue?

A. Increase the disk share value for the high priority VM.

B. Migrate the low priority VM to another ESXi host.

C. Create a Storage Profile for each priority level.

D. Enable vSphere APIs for Array Integration (VAAI).

Correct Answer: A

QUESTION 3

Refer to the exhibit.
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NYC_Userl is entitled to the AMERL1 global entitlement and has a global home site of NYC. - AMERL1 includes VDI1,
VDI2, and VDI5 and has a scope of Any.

Based on the exhibit, when NYC_Userl logs into LA2, the Cloud Pod Architecture feature will allocate a desktop from
which pool?

A.VDI1
B. VDI1 or VDI3
C. VDI2 or VDI4
D. VDI5

Correct Answer: B

QUESTION 4

An administrator removes a virtual machine from a resource pool and places it in the DRS root resource pool. Users
report the performance of the application running on the virtual machine has improved. The virtual machine relocation
was the only change that occurred.

What explains the change in application performance?

A. The memory, storage, and/or CPU settings of the original resource pool restricted access to resources for the virtual
machine.

B. The configured memory, storage, and/or CPU shares on the root resource pool are higher than the original resource
pool.

C. The memory, storage, and/or CPU settings on the root resource pool restricted access to resources for the virtual
machine

D. The configured memory storage and/or CPU reservations on the root resource pool are higher than the original
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resource pool.

Correct Answer: A

QUESTION 5

An administrator needs to backup the View LDAP Configuration and View Composer database. What are three ways
this can be accomplished? (Choose three.)

A. Schedule automatic backups by using the View Manager Configuration Backup feature.
B. Initiate a backup immediately by using the Backup Now feature in View Administrator.
C. Use a replicated instance of View Connection Server as the backup.

D. Take a snapshot of the View Connection server.

E. Manually export the View data by using the vdmexport utility.

Correct Answer:. ABE
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